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Question Number : 1 Question Id : 550053321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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If f(x)=x"-x and g(x)=sm2x, then f| g
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f(x)=x’ —x 2805w g(X)=sin 2xX 90203, XD f %
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Options :
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Question Number : 2 Question Id : 550053322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

(3—x ) .
; . then the domain of f is

\ 4 /

For xeR if f(x)=,[log,,

o (3—-X% ) \
xeR 8, f(x)= lOgm; % l 0B, W)\ f aBng) BP0

Options :




Question Number : 3 Question Id : 550053323 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
0) (3 5 -7) (x)

Let A=|-6|,B=|0 -1 8 ;and X=|v|.If D=[opy] is the solution of
\\8 / \6 _1 O ,’ \\Z )

X'B'=A". then DTA =

(Y (3 5 -7 (x)
A=/-6/.B=|0 -1 8 | Bt X=|y | wivsbotro. X'B'=A" g
&) gL \z)

F35 D=[apy]" wond, TN D'A=

Options :

Question Number : 4 Question Id : 550053324 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

0 11] l_b+c c—a b-a|
IfS={1 01 and A:E c-b c+a a-b|, then SAS™=
_1 | 0_ _b—c a—c a+b_
[0 1 1] l—b+c c—a b-a|
S=({1 01 maoth:E c-b cta a-b| wand, ey SAS=
11 0] _b—c a—¢ a+b_
Options :
(a 00]
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2
00c
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Question Number : 5 Question Id : 550053325 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 0 0 -1 01
If-A= |.B= and C =| . then
0 —1 1 O 1 0
i 0 [0 -1 01
A=  B=] So8osn C=| . 290008, IEDED
0 -1 '_l 0 1 0
Options :

A’ +B*+C? =3A"BC’

1.¥Y
A?+B?*+C* =3ABC
2. %
. A+B*+C* =3I
3.
4% A?+B*+C? =2ABC

Question Number : 6 Question Id : 550053326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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(7. -z,
If z, =(2,~1) and z, = (6,3), then amp| ——-2 J:
2 v\ 7 £
‘Zl —Z \
2, =(2,-1) 2080k 2, =(6.3) B,y amp -1=
\Zy T2y )
Options :
o —Tan™ (1)
4 \4)
1.¥
] g
——"Tan ‘I e J
\ 4 )
2. %
3 f 7%
ﬂ+Ta11“: L J
‘\ 4 /
3. %
T o PEE
—+Tan 1{— ‘
‘ (4 )
4. %

Question Number : 7 Question Id : 550053327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of all possible solutions of the equation z° +Z =0 is

72 +7 =0 283 5"(‘,3?8&)03)?8 0y TG 208§

Options :
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Question Number : 8 Question Id : 550053328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

-8
| V2(cos56°15' +isin56°15") | =

Options :
1. % I

i
2. %
3 16
4V 161

Question Number : 9 Question Id : 550053329 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

1+ i)2024 - i)2024 _
Options :

_2101’2
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2 e |
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Question Number : 10 Question Id : 550053330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the values of k for which the equation X™ +2(k+2)x+06k+7=0 has equal roots

arek, and k,, then k}+1] =

2008800 X +2(k+2)x+6k+7=0 2% dumerosd $DA Gododo® o k
ah0g), dewden k; 8ot k, ewowd, ey ki +k; =
Options :

1.% 8






Question Number : 11 Question Id : 550053331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If (3 - 2\/5)x:-4 - ('3—2\/3)x:—4= 6. then x*+x* +5=

(3+2V2) " 4 (3-242) =6 wond, wipye xtexe3

Options :
. —30
3 % 30

35
4.v

Question Number : 12 Question Id : 550053332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the equation x* +ax’ +bx’ +cx+d=0 has three equal roots, then that root is
Xt ax’ 1 bx? +ex+d =0 D60 QP HATD AreanvR) £DA gof,
@Q)Qc‘..) 23 QP

Options :

6¢c—ab

o 8b—3a’

ab—6¢
8b+3a’

6¢—ab
3a’ —4b

6¢c—ab
3a’ —-8b

Question Number : 13 Question Id : 550053333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If -11is a twice repeated root of the equation a(x3 +x*)+bx+c=0, then
achie=
a(x* +x° )+ DX+ =0 263 ~1 DA Tothy 1 YRS
S0, W)\ a:bie=

Options :
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Question Number : 14 Question Id : 550053334 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. . C, 2x€C. 3xC nxC
If ¢ sends for e, then L o~ 2 34 4w
J J CO C‘1 CI C‘n-l
£ 220, . nxC
IC. & C, 8 2rdd, iy LT Ty B
1= g 6 € C, .
Options :
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Question Number : 15 Question Id : 550053335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the number of diagonals of a regular polygon of n sides s 104, then n=
N-2030 (0 28 S0 WIMERS ST Do) 104 008, wyon =
Options :

19

'I e

16
</

11

Question Number : 16 Question Id : 550053336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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; . ) a
If (2-5x)5 =a,+a,Xx+a,X +..., then 1 =
, s

. . a
(2-5%)5 =ap+a;X +2,X" +... ©Q08, QYD —-=
a

P

Question Number : 17 Question Id : 550053337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of natural numbers less than 10000 which are divisible by 5 and that no
digit s repeated in the same number, i3

8 206" D 903 YATBI0 o B § & erfiodwd, 10000 S0t

éS)ZJaﬁw &G VPR {ooaa?ge) #ooaqs

Options :



802

L % 602

702

, v 1106

Question Number : 18 Question Id : 550053338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A team of 5 students i to be selected from 12 students. If two particular students are
to be included i that team, then the number of ways that such team can be selected
1S

12 2006 ey &od 5 e Dwsgwés w8 B0 Jocko§ Ty 608, 9GE
N ey e ae,g.one.‘i‘S SD\0T Soeywosl, wEretd 2608 oS e
foogps

Options :
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Question Number : 19 Question Id : 550053339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sin 217 cos9° —cos847cos 67 =

Options :
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Question Number : 20 Question Id : 550053340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0






Options :

Question Number : 21 Question Id : 550053341 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
i cosA +cos3A+cosSA +cos7A
If A=—. then— , — , =
24 smA+sm3A+smSA+sm7A
. R J cosA+cos3A+cosSA+cos7A
A=— o008, DD — — — : =
24 smA+sm3A+smSA+smn7A
Options :
3
1.¥
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5 ” ZN 2D
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Question Number : 22 Question Id : 550053342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If sec(6+a).secBand sec(B—c) are in arithmetic progression, then sm” 6=
6 v . 9
sec(0+a),secO Lodasn sec(B-0) e wos3E & €08, W)V sin B=
Options :
cos o

5> % 2cosd

—2Ccosa

—COS U

Question Number : 23 Question Id : 550053343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If cosa+cosp=a and sma+smP=b, then match the items given in List — A
with those of their values in List - B

C0s 0 +cosP=a Sobokw sinc +sinp=beowd, >do - A & LANY

2903300%), AT - B &' o8 Jewsdod addobod

List-A &do-A List-B 2dz -B
(I) a+f) b
tan 2 J- (a)g
M cos(a+p)= o) f’.ab2
a+b
) sin(c+p)= 2ab
) sin(o+p) o
a"-b
M) tan(a+p)= @
a’+b
al+ b’
¢) 57—
Chess
Options :

(I)>@) (O)—> () (M)—>(d (IV)> (o)

1.%

=>@) (I)>@© (M= b (IV)- @

2. %

. (I)>@) (I)> @ (IO)— () (IV)—> ()



(I) >@) (OI)—> () (II)— > (IV)—> (o)

4.

Question Number : 24 Question Id : 550053344 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
" ) cosha sinh o
Ita:10g6(2+\/;). then + =
l-tanho 1-cotha
' cosh o sinh ¢
a:loge(2+\/§). 90D + i
\ / I-tanha 1-cotha
Options :
4+24/3
1.%
7 +44/3
2. %

Question Number : 25 Question Id : 550053345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC. if cot =3:7:9. then a:b:c=

A
_"\O
2

I\)lU:J
I\J|f\,

A B e
AABC &° cot—1cot:cot—~=3:7:9 ©od, Wy a:bie=

Options :

8:6:

1.¥

th

5:6:8
10:8:5

L% 5:8:10

Question Number : 26 Question Id : 550053346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

L | U, b i : .
In AABC.if — — and —are in arithmetic progression, then 1, :1 =

LB I

AABC & L1 wsoasm — L 3¢¢° €08, DON-ARS
;S I

A )

Options :

1533:2






Question Number : 27 Question Id : 550053347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P,.P, andP, are the lengths of the altitudes drawn from the vertices A. B and C of

‘ : cosA cosB cosC
AABC respectively, then ey + -

P P P

3

AABC o) 97ren A, B 0B C o dvod Add &) dow JTeaen S8R

P, 080k B, wand, i cosA+cosB;cosC _

P P P

3

Options :

1
.Y R



Question Number : 28 Question Id : 550053348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2x'+5%+6 @ b

c
+ ~+ ., then ab+be+ca=

If ,
(x+2)  x+2 (x+2) (x+2)

2%’ +5x+6 a b c
= + + ;@on@.@qbaaab+bc+ca:

\2

(x+2) x+2 (x+2)° (x+2)
Options :
1. % 28
5 ® 14
v —10
—8
4, %

Question Number : 29 Question Id : 550053349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



aandb ae two vectors such that a is not parallel to b . If

p=(x+2y+3)a+(5x-y+2)b and q:(2x+3y+5)5+(x—5y—2)5 are  two

vectors such that 1_): 2&, then x-2y=

a B0t Dev a £ b dirodto 5798 Bocd w8y, p=1q ity
p=(x+2y+3)a+(5x-y+2)b &8k q=(2x+3y+5)a+(x-57-2)b &0 ot
RBIVONS, VRV X-2y=

Options :

1.*3

Question Number : 30 Question Id : 550053350 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3i- 21 -k, -2 —]+ 3k and i+ »] _ 2k are the position vectors of the vertices A. B

and C of a AABC respectively. If H 1s its orthocenter. then HA +HB+HC=

AABC aiog %gow A B &doin Co gm HB%0 ST

31-2j-k, -2i-j+3k Sobosw -i+3j-2k H o aivg), votwSoo 0,

o\ HA+HB+HC=



Options :

Question Number : 31 Question Id : 550053351 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let 7, be the plane determined by the vectors i+2j and 3j-2k. Let T, be the

plane determimed by the vectors]—?.E and3k -2, If 0 is the angle between
m, and 7,. then cosf=

i+2] &8sy 3j- 2k HB%eS ABIsocky dwosy T, v, j+2k
Sobato 3k -2 vé%ed ATFSAD| S0k T, wETe. T, LOAW 7,0

e &m0 0 eond, R\ €056 =

Options :

;
26

'I gg






14

29
32
52
3. %
23
—
. % 38

Question Number : 32 Question Id : 550053352 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

If a=2i+3j). b=3j+4k and o=51+4kare three vectors, then a vector which is
perpendicular to a and bxc is

a=2i+3) b=3j+4k S08oso c=5i+4ken sured 26498, B\ a

208050 bXC 0% votor® God af 163

Options :

451-30j+15k

1.%

)
[a—y
|
(§
LW |
+
7

_ —30i+20j+4k
3.



—451+30j+4k
4.¥

Question Number : 33 Question Id : 550053353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let ﬁ:2i—33+ﬁ. OB = 1—45—31_; and OC = —3i+]—‘2E be the position

vectors of three pomnts A, B, C respectively. If G is the centroid of triangle ABC,

then BC®+CA%+AB*+9(0G)’ =

0A=2i-3j+k, OB = i-4j-3k 280 OC = -3i+j+2kew S6%r A, B, C
29 ¢ Do) (g“a &%, HEbeo ABC o308, So¢ &0 G

w008, B\ BC*+CA”+AB +9(0G) =

Options :

v 162

Question Number : 34 Question Id : 550053354 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0




The vartance of 20 observations is 5. If each one of the observations 1s multiplied by
2. then the variance of the resulting observations is

20 H830b0 DY 5. T &'V 9O 28I 2 B el ISy

263000 DY
Options :

40

1.%

Question Number : 35 Question Id : 550053355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If two subsets A and B are selected at random from a set S containing n elements,
then the probability that AnB=¢and AUB=S, is

1 S0resee0 (DA 208 S dvoc alreySorr Gochy &DRBD A, B o
204083, TN AnB=0 s8oi» AUB= Se.odi)5 0P
Options :

1
Ao
1.¥ 7



Question Number : 36 Question Id : 550053356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a game. a pair of dice is rolled 24 times. If a person wins the game by not getting
6 on both the dice in any one of the 24 rolls, then the probability that a person wins
the game 1

w8 B8 08 28 PSR 24 FEH Bhomred, & 24 Dr{oirvS” Wl F6 dre
Gochy PR PR 6 & Tk 93 o’ FruTochueredd wNEOE, B\t w8
S8 @ st A0S 0L

Options :



12
3. %
( <\
ma
\6)
4.

Question Number : 37 Question Id : 550053357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Bag B; contains 4 white and 2 black balls. Bag B, contains 3 white and 4 black balls.
A bag 1s chosen at random and a ball is drawn from it at random, then the
probability that the ball drawn is white, 1s

200 B, & 4 80 &80 2 59 0B 63%) 0. Y0t By & 3 8 &bty
4 30 wodowd &%) . 28 oW TSSO JocbS PR A306 w8 208K

QI D\ SorP B, WY\ 08 3L 0d Ol VoerS(d
Options :

1
42

1.%

N

42

I
2

&S]
)

4;
2
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Question Number : 38 Question Id : 550053358 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If four dice are thrown simultaneously, then the probability that none of the dice
shows the number 1 on its face, 1s

Teoth DR J$swod’ Bl T ) D8 dwao I voay 1D
drdd Foeeds Ko oers

Options :

62
1296

N

[S—
]
N

2592

Question Number : 39 Question Id : 550053359 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The range of a random variable X is {02} If P(X=0)=3C,

P(X=1)=4C-10C* and P(X =2)=5C-1. then the value of C is

w8 0rehyIh S oo X ar {012} P(X=0)=3C", P(X=1)=4C-10C"
bk P(X=2)=5C-1 wand, o)y C aiog) e

Options :

2 | = |t

) |

W | 4=

Question Number : 40 Question Id : 550053360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If eight coins are tossed simultaneously, then the probability of getting atleast six
heads is

DB THR Aéses’ IS SR, SONE Db 8 80} 00 DEERS o

iooa;"bsé



Options :

)
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&
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Y

)
~
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37
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Question Number : 41 Question Id : 550053361 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The locus of a point which is at a distance of 2 units from the line 2x-3y+4=0and

at a distance of 13 units from a point (3,0), is
2x-3y+4=082 &00d 2 chrdd drdoddar 8ok (5,0) Doty &vod

VI3 0imt) md0 s od Dotoid) g, Dochirgo
Options :

i} 8x” +12xy+56x—24y+84=0
1.






. 8% +12xy+y  —56x+24y+84=0
3.

8x’ +12xy— 7y  —56x+24y+84=0

Question Number : 42 Question Id : 550053362 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The combined equation of the lines passing through the point (3,4) and each making

an angle 45° with the line x+y+1=0 1s
(3.4) Docoz ooe e 0By X+7+1=0 6% B8 8) 4.6 45° Emwd)

SR0d) a0 dog), ao)d D06
Options :

Xy—4x-3y+12=0
1.V

. Bx—-2y-1)(x-2y+2)=0
2.

(Bx+2y-17)(x+2y-11)=0
3. %

Xy—4x+3y+12=0

Question Number : 43 Question Id : 550053363 Display Question Number : Yes Is Question



Mandatory : No Calculator

Time: 0

The equal sides of an
7X-y+3=0and x+y-3=0

m=

: None Response Time : N.A Think Time : N.A Minimum Instruction

isosceles triangle are given Dby equations
. If the slope m of the third side is an integer, then

w8 DWAETTY Gowo ALog), VAT F0erw VLB Tx-Y+3=0 dobay

X+y-3=0. Qurcisd ghao ) &en mas ngoé@é, WYY M=

Options :

|
D

1.¥

fad

Question Number : 44 Question Id : 550053364 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC the coordinates of the vertex A are (-3.1). If the equation of the median
through B 15 2x+y-3=0 and the equation of the bisector of angle C i3
7x-4y-1=0. then the equation of the side BC is

AABCS' 3¢dw A gy Arvsey (-3, 1). B e Job Socsies Ban

Q080890 2 +y-3=0 0Bty Stao € G308, B0B(@OED T2 20860

7x-dy-1=0 eond, i BC g 208660



Options :

] % 7Xx-3y=6

v 18x-y=49

3.7 15x +y =50
ax-y=7

Question Number : 45 Question Id : 550053365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. : P LA .
If the lines given by (X" +y")sm” o=(Xcoso—ysma)™ are perpendicular to each

o ) 2
other, then sm” oi+tan” o=
(x"+y")sin” oi=(xcosa - ysina)’ & DI 00 DRG0 LoorT &ol,
.9 o)
R\ SIN O+ fall o=

Options :



3.4




Question Number : 46 Question Id : 550053366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the area of the triangle formed by the lines Y=X+¢ and 2%’ +5xy+3y° =0

5 3 :
1 — sq. units, then ¢ =
20

; ; : ]
y=X+¢ o8od 2%° +5xy+3Y = 080 08 6\ Gaba DT — .05
3 ¥+ G Gab® TV 2 -

03, W\ €=

Options :

2. %

+3
3. %

i
4. %

Question Number : 47 Question Id : 550053367 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

If the line passing through the points (5,1, )and(3,b,1) crosses the YZ plane at the

(

7 -13
point tO. 1— — l then a+b=
2" 2 )

(5.1.2) 58050 (3..1) Dockoidyo thore ok B, YZ - wsl] %g]

S PoGR, WY\ a+h=

Options :

e 12

Question Number : 48 Question Id : 550053368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AABC is formed by A(1.8.4).B(0,-11.4) and C(2,-3.1). If D is the foot of the
perpendicular drawn from A to BC, then the coordinates of D are

A(L8.4)B(0.-114)3080k0 C(2-3.]) & 6\ Szomo ABC. A dvod BC p3

AR w08 &Fco D eond, 2D\ D cing) Adrdsen






*
2. % S
L x (A5
, v (45.-2)

Question Number : 49 Question Id : 550053369 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The distance between two parallel planes ax +by+cz+d, =0. ax+by+cz+d, =0
d,-d,

; 1
If the plane 2x-y+2z+3=0 has the distances — and

s given by
J

units from the planes 4x-2y+4z+1 =0 and 2x-y+2z+1=0 respectively.

(SR | -2

1en the maximum value of 4.+ 1 is

[

{

ax+by+cz+d, =0 2080k ax+by+cz+d, =00 Focd drods Sere) dud|

d,~d,

Erody m @E®. 4x-2y+4z+1 =0 Dbodw 2x-y+2z+p=0

2 .12, 2
a“+b“+c°
2

30 A0d 2X-y+22+3=0 Serd3 fo Grdane SWITT l 08030 :
J %

ABPR NS, RN A+ (L GBS, ABE) e

Options :

R



Question Number : 50 Question Id : 550053370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let S be the circumcircle of the triangle formed by the line X—2y—4=0with the
coordinate axes. If P (=2, —4)is a pomnt in the plane of the circle S and Q is a point
on S such that the distance between P and Q is the least. then PQ =

X=2y-4=0 3y, drossod 6,63 Gxowo ang. 06 g

S wdogoro. Sydo S g S0t P (=2, —4) w8 Docdsd) Bk P ubasn
Q © dod{ Grdo S0 e90335e3g> %0 S P &d) ws Do Q WA, TN
PQ=

Options :



Question Number : 51 Question Id : 550053371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the coordinates of point of contact of the circles X’ +y' -4x+8y+4 = 0
and X" +y +2x=0 is(a, b), then a+2b=

X4y 448y +4 = 0 000 X +Y7+2x=0 03 Hgo e, )
Do) AErasen (a, b) ewond, O\ 4 +2b=

Options :

=

Question Number : 52 Question Id : 550053372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the chord of contact of the point P(h, k) with respect to the circle
X' +y —4x-4y+8 = 0 meets the circle in two distinct points and it also makes an
angle 45° with the positive X-axis in the positive direction. then (h, k) cannot be

X' +y' -dx-4y+8 = 0 Hydo csagn5 P (b, k) 3 Dockoidy g, 0\, 2y,
& F) Gocd) D) Dochrw 3¢ wodTed LBk BB &b X- wsed 68
&3¢ 45° S0 dree S008, ) (0, k) 54reda

Options :

|

\

12 |

) | wo

N
W | Wn
v | =

~

\‘.—’

Question Number : 53 Question Id : 550053373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the pair of tangents drawn from the point (1, 1) to the circle
X +y +2842y+1 = 0 is

X4y +2x+2y+1 = 0 53, (1. 1) Dockod Aod A 218, G iy
) D860



Options :

3% 8%y 3y’ —2X—2%4-6 = 0

1. ¥

11x* —8xy +11y° —4x—4y—-6 = 0
2.%

3%% —8XV+- 3y +2X4+ 2y -2 = O
3.V

X’ —4xy+y +X+y = 0
4, %

Question Number : 54 Question Id : 550053374 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let the circle S=x*+y* +2gx+2fy+c=0 cut the circles x*+y*-2x+2y-2=0
and X* +y* +4x-6y+9 = 0 orthogonally. If the centre of the circle S = 0 lies on
the line 2X+3y-2 = 0, then 2g+f=

S=xX’ +Y +2gx+ 2y +c=0 @3 dydo, X'+ -2x+2y-2 = ( 8ok
X'+ +4x-6y+9 = 0 H7o vowdyto 3 otdogemro. Hdo S =0
awg) Sogo 2X+3y-2 = 0 0¥ Bap &0, eyt 2e+f=

Options :



-2
]
|
O

Question Number : 55 Question Id : 550053375 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Let the equation of the tangent at a point P on the parabola x* —4x-4y+16 = 0 be

2Xx-y=5=0. If the equation of the normal drawn at P to this parabola is

ax+y+c = 0, then ac =
X' -4x-4y+16 = 0 DodoEE w8 Dok P 3¢ A 28 G daddo
2x-Y-5 = 0 wiossoro. P3¢ & dordwaird3 A edwow G dadbo

ax+y+c = 0 eond, O\ A =

Options :

z 10
. —20

h



Question Number : 56 Question Id : 550053376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

D) . . , . ; o 04 .
Let x“+y~ = 20 be the director circle of an ellipse E whose major axis 1s X-axis and
minor axis i Y-axis. If the length of the latus rectum of E is 2, then the distance
between its foct 1s

X- 050 &rgo mdr, Y - 050 (g0 mar $96% w 6 S0 E dng)
QoD Hydho X4y =20 eiodsorro. E a3ws), T heowo JE 2 wond,

e.o:gybcio ) 03”56 FEAND aiuc_ﬁ?g drdo

Options :

Question Number : 57 Question Id : 550053377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If 6is the acute angle between the tangents drawn from the point (2. 3) to the
hyperbola 5%° -6y -30=0. then tan 6 =

(2.3) Dociasy Bod 5x° -6y - 30 =0 @ST-50SrS D 16, Tap0 S0y
o 00 Sto H wond, R\ tanf=
Options :

i

1. %

B w

W |

A

Question Number : 58 Question Id : 550053378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The difference between the focal distances of any point on the hyperbola

7 7
-

\——;—; =1 is 6. If (y13.k) is an end point of a latus rectum of this hyperbola,
T it
then k=

\——i— =] BDTHVAD0 B IFT Do) a3g), T8 GrTe g o &3¢0

a b ;

6. & 3HTHVOD0 03”56 28 T8 L0 oius?} 28 esoé5 AlANS)! (\/ﬁ k)

900, W\ k=
Options :

.9

~2
1. %

.8

3

2. %

+9
3.%

4
4. ¥ 3

Question Number : 59 Question Id : 550053379 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



,
Ji+6x-3x; x<1

If f(‘() = ;
|x+log; (b +7), x>1

1s continuous at all real x. then b=

[+6x-3x", x<I
f(x)= .
x+log, (b"+7), x>1

9 DDOOI0 V) TR VPRV X HE WD) o NS, WYY b=
Options :

v

Question Number : 60 Question Id : 550053380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let f(x)be a real valued function. If £'(x)is a constant for all x€R, f(0)=2 and
f'(0)=1, then

f(x) @8 o7 durey pRraRosero. ¥y xeRo®, f(x) a8 26073,

£(0)=2 odato £'(0)=1 wand, CR)Nar






f(x) is not continuous on R

R D f{X) 9D\ S0 5760

f(x) 1s continuous at x =0,1,2 and 3 only

x=0,1,2,30 5& g0 f(X) 0Dy 0
2.% “

f(x) 1s continuous only on [O. o0

) [0.0) D BrgS0 f{x) DAY S
3.

f(x) is continuous on R

R 2 f(X) 9D\ 0
4.Y

Question Number : 61 Question Id : 550053381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If £:R—>R defined by

. X
sin X ~sin~
2 e

f(x)=¢ X
Vi +x -k
— g X>0
B

1s continuous on R , then £(0) =
. . X
S —sin—
S ¢

> ()

X
Ve +x %

™ docheacd f:R R pvao R eddyd) s eond, ey £(0)=

Options :

Question Number : 62 Question Id : 550053382 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If f(x)is a differentiable function, f'(x) 25 ¥x €[2,6], f(2)=4andf(3)=15, then
a possible value of £(6)

£(x) @S edsoab pakin, o) xe[2,6]o f'(x)25, £(2)=42080
£(3) =15 00d, 0yt £(6)cmog), Fesjhooiy wg deod

Options :

—:E)
1.¥ =24

lies between 4 and 15

4 15 &‘1)(3_55 &otod

2. %

L <15
=4

4. %

Question Number : 63 Question Id : 550053383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(x)=+x+sinx, then all the points of the set {( X BEWIF(R)= 0} lie on

£(x) =X +sinx @08, {(x.£(x))/f(x)=0]20d g ooy

Options :






a circle

28 0)H0 B &OoITON

a straight line

WS DEY B0 &otron

an ellipse

28 B3DB0 P &otrow

a parabola

v 08 DTOLA0 D &P
4.%

Question Number : 64 Question Id : 550053384 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
 logx Ay L dy o .
Ify= . then the value of x"—=+3x—+ at the point (%/E e ) is
X x> dx
logx 'y &y dy
y= 900D, @:g_)bcia (\/E.\/g)aboé)@ 98 X' —=+3x—+Y obos), D
X ‘ © o & :
Options :
0

1.¥



Question Number : 65 Question Id : 550053385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let f(x) be a differentiable function, A(0,c) and B (8,[)be two points on the curve

4 ‘ TR e , .
y="f(x). Given £(0)=2and f'(4)= e If the chord AB of the curve is parallel to

the tangent drawn at the point (4. 4)‘). then B=

f(x) w8 wdgodaD HRoako, y=1(x) Hgo 2 A(0.0) 6ok B(8,B)en Goc

A ' _3 B
Docoden wuomo. £(0)=2 Hbakw f'(4)=— m &n8od. $5o B 27

/

AB, Dotod) (4.5(4)) 96 A 6, B8 Disrodbor eol, ey p=

Options :



Question Number : 66 Question Id : 550053386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the tangent drawn to the curve y=x’-ax’+x+1 at each point x € R , is inclined

at an acute angle with the positive direction of X - axis, then the set of all possible
values of ‘a’1s

y=x'-ax’ +x+1 $508 03Dy xeR 96 A 0\6\0w, X - w508
635" w080 B 3D goll, Wit 7' ding) Fejoaky ) devidw
SNV

Options :

R-(~5.45)

7S

Question Number : 67 Question Id : 550053387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of points on the curve y=2t"+3t-5and x=t" —4t" -3t such that
the normals drawn at them on the curve are parallel to X — axis is

y=2t+3t-5 0By x=t'-4t"-3t & 3o P & Dot H¢ A

©DVoR0R X-0F S DOTodBoT GG TP &G DotV R0

Options :

1

fad

"2

Question Number : 68 Question Id : 550053388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If {:{*{ 0x > X’ +20} and £:A >R is defined by f(x)=2x"-15x" +36x 48,

then the maximum value of f(x) is
A= {x,f’9x > X" +20} &by 1A R& f(x)=2x"-15x" +36x-48 17
365&‘39. W)Y f(x) g (18 dewsd

Options :

—20

'I %






Question Number : 69 Question Id : 550053389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

—— |dx = Ax +Blog (‘962x ~4)
| 9e* —4e™ | | |

i."4 .\:_6 -x \l.
Ifj —— +C, then (A, B) =

(9™ - 4)

- |dx = Ax+Blog

(4" +667F)
—_— +C 00d, oG (A. B) =
J \ 9" -4e™ ) 9 1A

Options :

)
h

o | W
%) I
(@)

|
I'JJ
)
h

o)

.
UJI
o |
A




Question Number : 70 Question Id : 550053390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(x) :J. (bej ) and f(\/z )=0, then f(0)=

, Ix » '
f(x)=| = soboko T(42)=0 wons, s HU)=

(X" +2)
Options :

T
], * SR

—T7

o 19,
2. ® 22

—T7

A~[?
» 42

T

2
4. %

Question Number : 71 Question Id : 550053391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o) Sy, YO
| Z+8SIN ZX
je“'— dx =

\ 1+cos2X |

Options :

e* secx+C

e* tanx +C
2.V

e* cotx+C

e* cosecx+C

Question Number : 72 Question Id : 550053392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

a
6 . R ; e
T = j (X" —2x7)dx. then I is minimum at a =

—a

)= J (x* —2x%)dx evod, 03 ¢ I SR evady a=

Options :



Question Number : 73 Question Id : 550053393 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
T g sl
o i=ras o (sinx)" dx m
SRR _,:[(sin :»;)\/E +(cos x)‘E 12
6
&
3
[ f(x)dx T
Reason (R) : j ( ) T - T
%t(\)*ﬂk%_‘{j 2
S bl
(sinx)" dx T
QI a0 (A): - =
. ,_‘[(sin x)‘/: +(cos x)‘/‘_ 12
6
X
3 -
f(x)d
s*8es0 (R) : (\)(.(; - = IT;
T[ » i 3 ) e
28x)+1| \]
Options :

A 1s true, R is true and R 1s the correct explanation of A

A :’oéso. R .‘-’oe‘.’9§o S08a030 R 938 A 0330325 STl VI Pololc
\i.‘.-/";






A is true, R is true but R is not the correct explanation of A

A D850, R 2500 5°Q R 938 A A, 08D Dddes 5°edd

A 1s true. R 1s false

A béso. R e.oroé5o

A 1s false . R is true

A e.‘):)ej?go\ R ;’oéigo

Question Number : 74 Question Id : 550053394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

L5
If [x] 1s the greatest integer not exceeding X, then [ x ] dx=

»

-0.5

15
[X] @998 x So85 Doesd ¢85y rTrogan wowd. J' X’ [x]dx =
05

Options :

4.5

1. % 4

INQRW



(F'S]
hn

2.375
4. % 2

Question Number : 75 Question Id : 550053395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

S0m

j A 1—cos2x dx =
0

Options :

. —100J2

10042

Question Number : 76 Question Id : 550053396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



5

and J f(x)dx :J‘(f (x)+g(x))dx, then g(x)=

-5 0

X 45

12+x

If f(x)=

5

f(x)= ) 208050 Jf(x)dx :J(f(X)+g(X))dX 9003, W\ g(x)=

12“‘( 0
Options :
R—xs
12 —-x
1.¥
[ A G
\ 12—“(,’
2. %
gl
V12 +X
3. %
3
SX
12—-x
4. %

Question Number : 77 Question Id : 550053397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

The area (in sq.units) bounded by the curves x* =9y. (x-6 )2 =9yand the X- axis
is

dgdow x* =9y, (x —6)2 =9y dakw X- g 200 DOREGR] ST
(8. ofrdtnes’)



Options :

Question Number : 78 Question Id : 550053398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The substitution X=Vy converts which one of the following differential equation to
an equation solvable by variable separable method?

X=VY o0 00800 & $08 0bd 2a0édrrod’ 3 dFadal $uTeivw
2GS BB 8 BILVD BAIBROT S h3008?

Options :



Question Number : 79 Question Id : 550053399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

N AT e . :
If l— =1(x,y) is a homogeneous differential equation, then the general form of
dx

f(x.y)is

dy |,
DEVR DALY 1—}: f(x.y) 28 D02rdah 2960 owd, B\
dx

£(x,y) cog), Perdem 6ro

Options :
/\,7\|
X" '—;.n:l
\K/
1.%
(s}
| X |
Al &
) ¢):\V ‘l,nil
#® < S






V)21
4.%

Question Number : 80 Question Id : 550053400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

e

2 oJ|._.

The order and degree of the differential equation d—V [—‘ +xy=0are
(dx
respectively
= 1
"3 ( dv \E
o3g0 oi’bSdea:m] \ 2] = [ +3y= 0 chog], 0637150 206000 6D
, \ X /
NS0
Options :

3andl2

3 Sodadw 12

3and?2

3 Hodadw 2

3and4

3 Sdodw 4



3and 6
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Question Number : 81 Question Id : 550053401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following the least unit for length is
308 TS TP WAVD) VAT
Options :
parsec

DS DS
1.%






angstrom

e300 eg"éo
4. %

Question Number : 82 Question Id : 550053402 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The time of flight of a vertically projected stone is 8 s. The position of the stone after
6 s from the ground is

: . 2
(Acceleration due to gravity = 10 ms™)

QAT D200 BOD T70w DEFEDD 5700 § 5. 2P oc DEV0 B 6 5
SO T 0

(fdoes éﬁgdsao =10 1113'2)
Options :

- 20 m

5 & 60 m

. 40 m



Question Number : 83 Question Id : 550053403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A stone thrown with velocity ‘u’ at angles ‘0" and (90°-0) with the horizontal reaches
to maximum heights H; and H, respectively. Its horizontal range 1s

2% o §Su0d 0 St (90°-0) Srrad $drko ‘v & pé0 3 wd &5
(1633 D00 HEM Hj dododo Hy. eond oed §8% ddrods ms&f.g

Options :

4,/HH,

Question Number : 84 Question Id : 550053404 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Two vectors of same magnitude act at a point. Twice the product of the magnitudes
of two vectors is equal to the squate of the magnitude of their resultant. The angle
between the two vectors is

w8 0BiATE0 (1) ot I S Dothoig) HE D BT . & VBV
0BT V80 GIVE) B8R Do T8 HBS HBKATE0 STIS VATFIDS, &
%0 6 Seno

Options :

| 60°

Question Number : 85 Question Id : 550053405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

. . ; ; . 1 ; ——
A car of mass 1500 kg is moving with 20 ms™ velocity. If the breaks are applied it
comes to rest in 5 seconds, then the retarding force is

G303 1500 kg ffo 208 56 20 ms™ Stietoo & 390) 6. TP e
RH80D B 8B 5 VS Vi D33 V6. wod TP v

Options :

x 9000N



, » 6000 N

12000 N

3000 N

Question Number : 86 Question Id : 550053406 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A Dody is made to move up along an inclined plane of mclination 30° and the
coefficient of friction is 0.5, then its retardation is

(g - acceleration due to gravity)

Teo8tao 30° 28ak w6 Hrgo 0.5 o Twd Suops w8 SRV SBTHKY

B T es:aé&dcso

(g - thotae &deao)
Options :

2 ++/3
4 g

1.9






(Z-i-\f"?))
R
W

4.

Question Number : 87 Question Id : 550053407 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

. o : ; w g gy
A machie gun fires 300 bullets per minute each with a velocity of 500 ms™. If the
mass of each bullet is 4 g, the power of the machine gun is

w8 26 G2 IS 300 gt oy, 9O WS Srio 500 ms™ Hbat

90 W0gE QO3 4 g, wad N6 Q3 Emgl%o
Options :

3.6 kW

1.%
3 kW

5.4 kW

3.%
2.5 kW
vy
Question Number : 88 Question Id : 550053408 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A body falls freely from a height of 100 m on to the ground and rebounds to a
maximum height of 36 m after collision. The coefficient of restitution between

ground and the body 13

28 B0 100 30 A0d YT Sup 0é Sud edardo ST 36 m 6

B0 BB, VD, SPL Bocs VEBTA thrago

Options :

Question Number : 89 Question Id : 550053409 Display Question Number : Yes Is Question
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Time: 0

A force of (21+3 j+4k) N acts on a particle whose position vector with respect to the

origin of the coordinate system 1s (61+b j+12k)m. If the angular momentum of the
body is constant. the value of ‘b’ is

Diro8 S0 Ao DoB) By, 1 984 (61+0j+12K) m o 28 o
(243 7+ 4k) N oo 5 Sotitony 8. 30 Ging) Ecdad ¢isedro Soorr

&o8, ‘b’ Dewad
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Time: 0

The range of a projectile of weight W is R. The average torque on the projectile
between the initial and final positions P and Q about the point of projection is

W erdo o w8 DEDS0 o) R. 9EDS Dotkos) Do § S8ot Sob

DothadHen P ndatn Q © dodsf 2 SRES RN

4

Options :

WR
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Two springs A and B fixed at the top and are stretched by 8 c¢m and 16 cm
respectively, when loads of 20 N and 10 N are suspended at the lower ends. The ratio
of the spring constants of the springs A and B is

2 Wdden Dottt Goc DY0h &3 A 280K B en o8 S08 DY Dere
Boedd aroren 20 N 8ot 10N Hod ddare § cm Adakw 16 cm e
DD, A Basw B R0 © )0 dorose g

Options :

131

1.%

2
[on—y
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Time: 0

The amplitudes of a damped harmonic oscillator after 2 and 4 seconds are A; and A
respectively. If the initial amplitude of the oscillator is Ay, then

w8 0386 O S Evso A303); S0 OS2 06080 4 DY ShTS SR

Aq 8050 A). Evdo g, §9 0% DBS Ay wod

Options :
A, =3A A,
1.¥Y
L« A =yAA
. A,=JAA,
A +A,
J.A].: =
y 2
4. % =
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The value of acceleration due to gravity at a height of 4Rg from surface of earth is
(Rg is radis of earth and acceleration due to gavity on the surface of the

earth = 10 ms™)

Are8e0 2006 4Rg JQY’ s S6aw

(Re = Erar{Rrgin ok dredddvo M &dee = 10 ms™)

Options :
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Time: 0
The maximum possible height of a mountain on earth is approximately

(elastic limit of mountain rock =30x10"Nm™, average density of mountain rock
3 -3 -2
=3x107kgm™. g =10ms™)

AP P w8 OB e 8 IS

(oro oZmS)J ?ge’.’é g*#os ea:>sz:30><107 Nm™ odgéo cﬁwé;j T°0N &o@é

=3x10'kgm™~, g=10ms™)






9 km
v 10 km
- 12 km

8.8 km
4. %

Question Number : 95 Question Id : 550053415 Display Question Number : Yes Is Question
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Time: 0

A person of height 1.65 m 1s standing upright. The additional external force required
by blood vessel of length 1 cm. diameter 1 mm at feet to balance the pressure
compared to similar blood vessel in head is

(Density of blood = 1.1X 10’ kg m’ g=10 s
T 1.65m to w8 23 Ardorr Joawd &) €. 03 e 3¢ 1 om JE,
| mm o o S5V &' SERando w3 dud’ eol wBeM

g &' D004) BURIDELE) e.obfodmo‘b)g OBV W0
(850 Fogd = 1.1x10° kg 111'3, g=10 1113'2)

Options :
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Time:0

The specific heat capacity of a copper block of mass M 1s ‘s’ If the mass of the
copper block is doubled, the specific heat capacity will be

B3T3 M flows oh &) D3l avm%o 'S, © B $H0°3 B80R) B,

o) B} oS aggﬂg ,30:»850

Options :

Question Number : 97 Question Id : 550053417 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

2 moles of a monatomic gas requires heat energy Q to be heated from 30 °C to 40 °C
at constant volume. The heat energy required to raise the temperature of 4 moles of a
diatomic gas from 28 °C to 33 °C at constant volume i

2 AP © Q8 DEAPEVE TN R0 0880 B¢ 30 °C do0d 40°C & Sé
SODEPQS Q &3S WSVINS, 4 Ard © BEHOAFMS TP O
2002007630 3¢ 28 °C d0oct 33 °C £ EeSoErS SV €8S

Options :

2

Q

w |5 w3

3
o
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A Dlock of steel of mass 2 kg slides down a rough inclined plane of inclination of

{
/

2\
) (M ——
Sl ltj } at a constant speed. The temperature of the block as it slides through
)

80 cm,assuming that the mechanical energy lost is used to increase the temperature
of the block 1s nearly

(Specific heat capacity of steel = 420 Jkg'K™ and Acceleration due to gravity
2
=10 ms™)

.33
2kg o dopo3 $OAD o &8, B, %d@é 438 sin” [; ] T &R WS (6D
\

T S0 P $065% arD) &. S 0 afrods 38 e, B, ed &

008, B T dwo 80 cm &8RN T eI’ Srdoy Rodrdore

’ _ gt _ e
CEURGAR &&géo =420 Tkg K™ ot e oo = 10 ms™)
Options :

0.0190°C

1.%

L v 0.0114°C

0.0152°C
®

0.0952 °C
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Isothermal bulk modulus of a gas at a pressure P 1s

(v - ratio of specific heat capacities of the gas)
DED0 P DG 28 Tosn Ghug), D e der esasd Meago
(y - Srosn DITR avm%o ANe)

Options :

W
‘I.% 1
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Time: 0

A vessel of volume 10 liters s filled with Hy gas. The total average translational
‘ . . . - 5 >

kinetic energy of 1ts molecules is 4.5x10° I. The pressure of hydrogen in the vessel

18

10 S)eag 20 DBSTe0 eél WS 5*@ H, vaﬁ»@éﬁ QoD 9 200
M 06 (10 3 4.5x10°Teoowd, FgS'D IpERS Trow A0E)
20






x 3X 10° Nm™
30x10° Nm™
30x10* Nm™

3x10* Nm™

Question Number : 101 Question Id : 550053421 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Small amplitude progressive wave in a stretched string has a speed of 100cms™.
and frequency 100 Hz. The phase difference between two points 2.75 cm apart on
the string. in radians, is

w8 T Gobrdd B B Sod DS v w8 YBD ddort S

100 cms™ o8k 3‘&)@&50 100 Hz. mc,slgwdo 2.75 cm &R) G0 Dot
Sockg aw Scso BEaHY’

Options :

1.*0

11—

RS
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Time: 0
Blue colour of the sky is due to
es52%0 DOBoD &S cocterdS s°Ee0
Options :

reflection of light

5083 DT°DCD0

refraction of light

5°08 H3BWHD0

diffraction of light

5708 DdGD0

scattering of light

52063 HOED0
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Time: 0

The property of light which cannot be explamed by Huygen's construction of
wavefront is

0y B60rT(f Ao 30 Do) 708 G0
Options :
Refraction
L HSBHH0
Reflection

DT ER0

Diffraction

DDBDo

Origin of spectra

asg DTS AP0
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The electric field (EinNC™) in a region is given by E=3i+51. The net electric
flux through a square area of side 2 m parallel to y - z plane 1s

w8 B30 RS EGo (EinNC™) E=3i+51 17 WWEIA. -7 8dS
RiFoSBo &0l 2 m ot BB DFujo oo Jak 8 kS
9D T°eT°0

Options :

3 NC'm?
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Two thin conducting concentric shells of radit R and 2R are shown in the figure. The
outer shell carries a charge +Q and the mner shell is neutral. Then the correct
statement/s i

(a). When the switch is closed. the potential on the inner shell becomes zero

Q

(b). With the switch closed. the charge on the iner sphere is &

a*;g(%ﬁg’w R 0800 2R e o) G0k 0e0iR) s d% Sog AvEmen Dk’
rdaddd. ey o D +Q e ot SBaby wodd o Sio.

OVA VBADR VaIeId0 /&0

(a). B Q 27, w00 Ao CBg) TEAHS R0,

(b). ¢S D e, wodd fivo p deiadio, —% DR,

Options :

(a) and (b) are correct

_ () 308050 (b) &0 DB
1.



(a) 1s correct, (b) is wrong

(a) ©BGHHS, (b) B2y
2. %

(a) 1s wrong, (b) is correct

(a) 82, (b) 2BDDE
®

(a) and (b) are wrong

(a) o803 (b) ev S
4, %
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Time: 0

Two square shaped metal plates of side 1 m, kept 0.01 m apart in air form a parallel
plate capacitor. It is connected to a battery of 500 V. The plates of the capacitor are
then immersed in an insulating oil by lowering the plates vertically with a speed of
0.001 ms™. If the dielectric constant of the oil is 11, then current drawn from the
battery during this process is

28)9).6 doudw 1 m &d) Gocd SAEFSG &Py Dudodd S 0.01m
GRG0 &ow) MATeSE DOV SFE & Ajoereh. IS 500 V eriebd
49, & Sardd HusoR) A Jewye 0.001ms™ SES Gochdr ws wogs
AR 6 0o, &8 Ard Bes8 Jomogo 11 wand, & D30’ {0 dooct
SRS S Vo

Options :






4.425x10°°A

. 4.425x10”° A

4.425%x10° A
L

, » 4425 107°A
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Time: 0

When a resistance Ry 15 connected across a cell, the current 1s Ij and 1f the resistance
Ry is replaced by Ry, the current is I. Then the internal resistance of the cell is

28 200D Ry ABESI00 S oS pariomidns Ty, @)\ Ry
¢SO Ry DBeSAnd0 $95%, ofd pariridn T wowd e o0
©038) B

Options :

IR, +LR,
1358,

LR, +LR,
T4,




IR, ~LE.

3 I -1,
I:Rz i IIRI
4.¥ b
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Time:0

i . " . % ;
Charge passing through a conductor of cross-section 0.3 m”~ is given by
q=(3t3+5t+2)C where ‘t" s in seconds. The drift velocity at t = 2 s IS

(Concentration of electrons in the conductor =2x10"m™)
SEENG PFof0 0.3 I’ o) 208 TEPEn Kot D9TRON) S D30
q=(30+5t+2)C rr ad(RARB. 98¢ t S0 2%¢E God. Tvo =125 B¢

&9 S
(508" dod o =2x10"m™)

Options :

0.77x107 ms™
0.93x107°ms™

, v 1.77x107ms™






Question Number : 109 Question Id : 550053429 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A magnetic field intensity at the centre of a circular wire of radius 0.1 m carrying a
current 0.2 A 1

TR0 0.1 m (0 28 HyTrs6 S’ 0.2 A Doy Hdariosl, o Sogo 94
WO 08 ESE
Options :

2nx10™T

x107'T

10T
3. %

Anx107'T
4.¥

Question Number : 110 Question Id : 550053430 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wire is first bent in the form of a circular coil of 5 turns and the same wire is then
bent 1 the form of another circular coil of 10 turns. If same current is passed in
both the coils, then the ratio of the magnetic fields at their centres is

208 Bri0 A0ck 5 Ok G0ty w8 HF'S Y PR, ST 3 Bii 10 et
&0t B HyTs6 SRm Soredd. Gocdy ke a8 oS &

DF00BY, 8 Sogre S¢ o 08 Egro And
Options :

1:8

1. %
, 1:1

33@1:2

4ﬁ,j;-l:al
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Time: 0

A solenoid has a core of a material with relative permeability 400. The windings of
the solenoid are insulated from the core and carry a current of 4 A. If the number of
turns is 500 per metre, then the magnetizing field is

Fhsg. 28,00 400 o SR §6 m 28 IdDTronE 498 6od. FdTrané
oty 86 ol D088, T’ 4 A DS HBTFWD) B, w8 DD

€98 029§ 500 &) o, WK 086 Y

Options :



| ® 2 x 10° Am™
1x10° Am™
4x10° Am™

3 1
2x 10" Am
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In an ac generator, if coil of N turns and area A is rotated at v revolutions per second
in a uniform magnetic field B, then the motional emf produced is equal to

(Att=0s, the coil is perpendicular to the field)

8 2 2006Y", w8 DB w0l 00 §do B &' N ot 0Bty deo A &y
Offeial) DS L om0 H SRS, B\ &S St SOTE)S
QAT VS 800

(t=0s 26, O ETPS oo &)

Options :

. NBA (2rv) sin (2n0t)

. NBA’(2nv) sin (2nvt)



, N’B’A’ (2rv) sin (2w L)

. % NBA (4nv) sin (2nvt)
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; ; . . L :
The frequency of ac at which 16 pF capacitor and — mH mductor will have same
-

reactance 1s

10
16 uF $ardta6 obao — mH 6o &3 08¢0 $AcME ac dg)
n- o/

3”«6532):‘6780
Options :

. 1 kHz

o 125kHz
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Time: 0




The average power output of a point source of an electromagnetic radiation is
1080 W. The maximum value of the rms value of the electric field at a distance of
3 m from the source s

28 Dmsdw&&oé Sborfo A0, w8 Dotk 20 ARVE), Mk g 3":1)9)50
1080 W. 280 &ct 3 m crbodS” Do EGRY 1mms G, (183 Dewsd

Options :

. 20 V!
1.

, 40 V!

v 60 Vm”l

% 90 Vm*
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Time: 0

The velocity of a particle A is 3 times the velocity of proton. If the ratio of the de
Broglie wavelengths of the particle A and the proton is 3:2, the mass of the particle
Ais

(m, — mass of proton)
28 S0 A Gog), o J'eriy SRS 3 5. S0 A SoBaty JTerdow derod

Sdorh Qgéo NG 3:2 wowd, St A Ag), B0

(m, - Jers go0-3)
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The transition of an electron in hydrogen atom that emits a photon whose
wavelength lies in the ultraviolet region of the electromagnetic spectrum is

G2 DB ' w VTR g dogdons” errddhy Serdy
S00ri38,0 DB, 08 HF0 A0, AL aPeS FPodods” Goda
Options :

54

4—3
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Time:0

The relation between the mean life time 7 and the half life time T , of a radioactive
substance is

28 0Rar 88 oG GRS D00 208 P00 T 0% L 2% 5200

T, 6 dowodo

Options :

1.¥
— 2
, I, =tlog, 2
T,=1
3.
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Time: 0




A p-n junction diode is reverse biased with a voltage of 8 V. If the resistance of the
. ' 7 ’ ;
diode 1s 4x10° €2, then the reverse saturation current is

w8 P01 908 GaIrE £ 8V 8888, Sa edfomds. & dolré dog), Mo
4x10'Q oo T 630 Doy NS VIR

Options :

32 tA

2 nA

0.2 tA

0.5 HlA
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Time:0
In a p-n-p transistor

28 P-1-p &6 &

Options :
emitter is heavily doped and collector is moderately doped.

&S0 wSorr, E8e3 DO(ROTT 886630 BODWE EotTo.
1.¥ ‘






emitter 1S moderately doped and collector is heavily doped.

&G0 SO NS0 9BSoTe A S580 BODE EotToN.

both emitter and collector are heavily doped.

&oroso S80I DE883 Boktr Qo ArdEHo BoNEG Eotraw.
3. %

both emitter and collector are moderately doped.

&ErE50 SH6okn 8863 Boctr LBRorT SrB86630 DODLEG SotTaw.
4, % '
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Time:0

A carrier wave of peak voltage 15 V is used to transmit a message signal. If the
modulation index 1s 60%. then the peak voltage of the modulating signal is

w$ 2% 2058 DRG0 BaHEES 15V 3 STe o irs Sorry

GOAIrAoTdd. APEGd 2r0) 60%, 900D S F80f D030 3300 36

Options :

3V

'I %

6V

L9V
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Question Number : 121 Question Id : 550053441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Vijayawada FM radio station broadcasts at frequency of 103.4 MHz. The
wavelength of the corresponding radio waves (in m) is

duahare FM Baasr s 103.4 MHz 3‘:6333)«650 ¢ DFTRRD SR008.

Souos S St 8601300 (m v6)
Options :
L 290

29.0






9.20

. 220
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Time: 0

The minimum number of quantum numbers required to specify an orbital 1n an atom

is
w8 DOAPRY SV BByrS B ArdodrdS THVV 4% 5080 Qoo

:oos,olg

Options :

1

1. %

-2

Lad
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Consider the following two statements
b) ¥ 5 | % +
Statement I: Among Mg, Al, Mg™. AI" the one having smallest size is AP

Statement II: Eu is having exceptionally high atomic radii among lanthanide
elements

The correct answer 1s

S08 Bocy SECICTY lelglc oo

(L Mg, Al Mg”, AI" 08, A" & ey 68runo0 soi

g 11 erodde: Suresl’ Eu £ &0rodd PRST) DS HOKTER
Jsﬁgo S

2BGHH HATETR0

Options :

Both statements I and II are correct

argagen I u8asw IT Godr DBADLHD

Both statements I and II are not correct

aegagen I o6asw II Godlr 2EALRD 5D

Statement I is correct but statement II not correct

egaf 1 DBALOS 52 orfady I PDOADLIE sk

Statement I is not correct but statement II is correct

efa] I DOGDHE 5760 57 Tegaf I 28aLHE
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Identify the pair of elements with the highest and lowest electronegativity
respectively

ST w(BS Hbakw wdfo Qe)g DAL o durwsee w8 fdosod
Options :

K and Rb
. K &H08a30 Rb

ITland F
- T&oéosw F
2.
F and Fr
F 08030 Fr
3.¥
Fr and Li
, Freoséodn Li
4,
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If the bond order in C; 1s X" then the bond order in B, and O, respectively are

Cy ah)sé?j 2006 S0 ‘X’ 90A By «080in 0) & 8008 S50 AR



Options :
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Identify incorrectly matched set from the following

S08 &) Avoc. RO axd Saeda (incorrectly matched) DS HBSoc:
Options :

Molecules with incomplete octet-BeH,, BCl3

Vo0 RS0 &) WewaHew - BeHo. BCl;
1.%

Polar molecules- BF;., CCly

G0 escHen - B3, CCly
2.V






Molecules with expanded octet- PCls, SFe

903 DR &) EVQY- PCls. SFg

Odd electron molecules-NO. NO»

&3 R0 VTS EVHWO- NO. NO,
4. %
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Time: 0

An ideal gas (X) present in a vessel of volume V L exerted a pressure of 16.4 atm at
200 K. What s its concentration in mol L™

(Given R = 0.082 L atm mol” K7
200K 96, VL s08088me0 0 8’ 5638, ok (X), 16.4 atm f’ocimi')l

gerd #2308, 8 rreted mol L o Josh?

(ady6 : R=0.082 L ammol" K™)
Options :

0.50
1. %

, v 100
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A 100 L cylinder containing Hy exerted a pressure of 4 atm at 300 K. It was
accidentally opened and some Hy was escaped. When it was closed, it exerted a
pressure of 3 atm at 300 K. The number of moles of Hy remaining in the cylinder is
equal to

(Assume H, as an 1deal gas: R = gas constant)

300K 56, 28 100 L dootb 6" Hy e Bk i 4 atin, Dardszed
A Sure Bethdecod. Sod Hy dwotid dod aash 29y owos. Sarddy
DA, 300K 3¢ d0oc6 & DB 3 atim. dods & DD &y H,

A © 1008.05 B3 AAFHHaN?

(Hy 8 5658, arafnd eoroSosw) (R = aoto ?gmos;&»)

Options :
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Observe the following reaction

Sodd e86§ 8390tk

Cl,(g)+20H (aq) - ClO™(aq)+ C1"(aq)+H,0(1)
Identify the correct statements about this reaction

82 3] S0 Doe0Row) O UMD Mdoctod

I CL, ( g) 1s oxidized to ClO™(aq)

L CL

) s oxidized to C1"(aq)
CL(g), CI'(aq) ™ 288680 BoBIE

. Cl,(g) isreduced to Cl0™(aq)
1, (

)1
g), ClO™(aq) ™ $chsdeao SoBHE

IV.  Cl(g) is reduced to CI"(aq)
Cl,(g), CI"(aq) ™ So%86e0 W0

The correct answer 1s

BB DATEED0
Options :

I. IV only

LIV &80
1.v



L. 11T only
I TIT %o, a2




ILII. IV only

_ LILIV srgdo
3.

I1. IIT only
, ILIII S0

Question Number : 130 Question Id : 550053450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the standard enthalpy change (AH?) for a certain reaction at 298 K and constant

pressure is -1860kT mol”. the standard entropy change (A_S°) of the same

reaction is -550 T K mol™, which one of the following statements is correct?
298 K, 6 D0 38 i ST JomrdyS’ oy (AH) -1860 kI mol”, 3
361 e Joif'D & Srdy (A, S°)-5507 K™ mol e 308 Didseaeds

DB VBHG?

Options :
(Amse )+A,, S°=-76921] mol™ K. the reaction is spontaneous
(A,,8)+A,,S°=-7692 Tmol 'K, 6§ evatxésy 8y80

'I %

'- : , Ji5 b
(ASYQS“)+AMS“ =-5692 I mol” K™, the reaction 1s non- spontaneous

(A,,8°)+A,, S =-5692 Tmol K™, e56{ e0d0508) g0
k-

5¥5



(A_S)+A_ S =+56921 mol™ K. the reaction is spontaneous

Vs

(A ST)+A,,8°=+5692 T mol K™, 565 esas>&) gyed0

sy’

'

(A S)+A__S* =+7692 T mol" K. the reaction is non- spontaneous

sys

(A,,8)+A,,S" =+7692 Tmol K™, 36§ e0d0>é) 80
4.%

Question Number : 131 Question Id : 550053451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the standard enthalpy change (A,H°) for reaction H,(g)+Br, (1) - 2HBr(g) is

~72.8 k. the standard enthalpy of formation (A,H® ) of HBr (g) (in k7 mol™) s

-

H, () +Br, () > 2HBr (o) s56(% psoren doredy & orcy (A H')-728 KT

@00 HBI (o°) 28578 202088 Dow% (k7T mol” o’ )

Options :
-36.4

1.¥

5 % +36.4



4% T182




Question Number : 132 Question Id : 550053452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T(K), the equilibrium constant for A (g)==B(g) is 10~ If rate of forward

L : 4. : - 4 5
reaction 1s 0.025 mol L™ s~ . The rate of backward reaction (iInmol L™ §™ ) 15

T(K) 56 A (2)==B(g) 6] % dcer 2 dorosedo0 10°. B 36 Sew
0.025 mol L™ 57 esond 98 56 Seomol LT s o doss?

Options :

4%10"

1. %

Question Number : 133 Question Id : 550053453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole H,0(g)and one mole CO(g) are taken in 1L flask and heated to 725K.

At equilibrium, 40% (by mass) of water reacted with CO(g) as follows
H,0(2)+CO(g) = H,(g) + CO,(g)

Its K, value is

w8 3¢ H,0(g) 8ok a8 aré CO(g) v 1L d), & S8 725K S6
36 S, PR 3¢, 40% (T gom) A, CO(g) & 08 Dorr 0
Q0808.

H,0(g)+CO(g) = H,(g) +CO,(g)

AN
Options :

0444

4 % 4.440

Question Number : 134 Question Id : 550053454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The O-H bond length in H,O 1n gas phase is

TO30 PR & H,0 &5 O-H evots 3gco

B



Options :

95.7pm

\'ﬁ'"

1.

90.2 pm

2. %

104.5pm

115.5pm

Question Number : 135 Question Id : 550053455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following alloys are correctly matched with their uses?

i) LMg armour plates
i1) Cu/Be high strength springs
ii1) Mg/Al aircraft construction

308 2 D3 S'Tfen T GOATTOS VOT 2 SaLLEDID?

1) LMg Pl IV
i1) Cu/Be S0 800 (L Y0 &
ii1) Mg/Al DIPTV T €30

Options :






1. 111 only

i, iii Ao

1, 11, 111

Question Number : 136 Question Id : 550053456 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

308 TP 2u¢h DAIVAD

List I List IT

ol | &doe 11

(Group 13 element) (metallic radius. pm)
(D 13 daredo) (5% avgavgo. pm ©&°)
A Al I 135

B Ga II 143

C In I 170

D T IV 167

The correct answer 1s
RO VTR0

Options :



| A-L B-IL. C-IV, D-III

, A-II. B-1. C-IV, D-III
2.V
3 ¥ A-III, B-IV, C-11I, D-I

4% A-II. B-1. C-III, D-IV

Question Number : 137 Question Id : 550053457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the acidic oxide from the following

So& 7€) Aoow) e 5 & O Dot Do

Options :

SnO
1

4 % PbO

Question Number : 138 Question Id : 550053458 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

In the Kolbe electrolysis of sodium propanoate, the products X and Y are formed at
respected electrodes. What are X and Y?

Féahro TS & %fesb o Dae ol o X &bty Y edyry e
Ro0Bd JUEE © I A6\EDD. X wbaty Y Dod?
Options :

X = CH;3-CH»-CH,-CHj3 at Cathode: Y = H» at Anode
X = CH3-CH,-CH»-CH; 58 & 5% Y=H; s3E D5

X = CH;3-CH,>-CH;3 at Cathode: Y = H» at Anode
X = CH3-CHy-CH; 8 & 9¢: Y =H, sSE 56

X = CH;3-CH,-CH,-CHj at Anode: Y = H» at Cathode
X = CH3-CH,-CH,-CH; esS & ¢ Y =H; s8& DG

X = CH;3-CH3 at Anode: Y = H» at Cathode
X = CH;-CH; #S& &¢: Y=H, 5°8& 5¢

Question Number : 139 Question Id : 550053459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following molecule is not aromatic?

308 T°5° DO 3T 8IS s°¢0?



Options :

—

Question Number : 140 Question Id : 550053460 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

An example for network solid is

s ;Joézawgé’)é =X on 01T (or)

Options :

v SiO0)

, « MgO






Cak,

/nS
4, %

Question Number : 141 Question Id : 550053461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

20 mL of 0.1 M HC1 1s added to the 30 mL of 0.1 M NaOH. To this solution extra
50 mL of water was added. What is the molarity of the final solution formed?

20mL & 0.1 MHCI % 30 mL & 0.1 M NaOH £ £9ar8. 838 50 mL © DB

96390 DD Ddbcié TRy Arerde) Jod?

Options :

. 0.1 M

, v 0.01M

Question Number : 142 Question Id : 550053462 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The molarity of one molal glucose solution having density of 1.2 g/mL is

1.2 gL Pogd $9A% | Srerd (r8 8 o ciog) Awersd

Options :

0.101 M
1. %

1.01 M
N

3 201 M

, « 0:001M

Question Number : 143 Question Id : 550053463 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The conductivity of a solution containing 2.08 g of anhydrous barium chloride i
200 mL solution is 6x10~ ohm™ ¢m ™. The molar conductivity of the solution (in

ohm™ em*mol™)is xx10°. The value of xis
(Atomic mass of Ba =137, C1 = 35.5)
2.08 g g 58030856 200 mL Eridea08’ )y TR RSB0

6x107 ohm™ cm™. & grédeao Arerb Trirgeo (ohm™ em’ mol” v’) xx 10°
HO0RS’ X Dewd (D6 (o3 Ba= 137, C1=35.5)

Options :

1.2
1.v



Question Number : 144 Question Id : 550053464 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

For the reaction A +B— C. the following data were obtained

Expt. Initial concentration Initial rate
[A]M [B]M (M min™)
1. 0.1 0.1 1.0x10™
2 0.1 0.3 9.0x107
3. 0.3 0.3 2.7x107

The order of reaction with respect to A and B are respectively

A+B—C &0d 06) D $08 &80T 0DOTTOW.

elovbulele) FB0 T B0 Bew
[A]M [B]M (M min™)
1. 0.1 0.1 1.0x107"
2. 0.1 0.3 9.0x107
3. 0.3 0.3 2.7x107°

A, B © DGore z:>0°5 SAT°05e DBV






[e—
h
»

[um—
n

O
(%)

Question Number : 145 Question Id : 550053465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The correct statements about Zeolites are
I) They are good shape selective catalysts
IT) They contain Al-O-Si framework

I1T) They are not found in nature

IV) They are used as catalysts for cracking hydrocarbons, in petrochemical industry
LA S Dowodow) ABAM SEENOV

I) 92 o) 3578 e eif@gds“w

1) D& ooy Al-0-Si 206), G006

IT) 99 ¢ Vg0 Y

IV) 28" 6raiod 08308° I8 TES6)S © DaoaTd3 EOArHFE

Options :

'I %



I & II only
[ & 11 e

IT & III only

II & 111 wgéo
2. %

III & IV only

I & IV &S
3. %

I. II &IV only
. L II&IV &g

Question Number : 146 Question Id : 550053466 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not the application of adsorption?

208 T0S° DO QT NE0 L RVDGIAL ToE?
Options :

Use of SiO; gel for removing the moisture

. AOse (Si107) 2SS Do &DWBIrAon) B DRotdEo



Use of coconut charcoal to separate inert gases

, g 2030 8570 EDWIH0L) WET OV DBBATVE
.’



Use of AlO, to separate the components of organic mixture in chromatography

S5 &, ALO, D &darAod) DoSobh 3k00es’D sk S Do
3. %

Use of CaCl; for removing the moisture

CaCl, & &D3rAon) B SofodEo
4.v

Question Number : 147 Question Id : 550053467 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How many of the following can be purified by using zone refining method?

Ni, B. Ti. In, Ge, Mn, Ag, Si. Ga
308 B AV 0B doke FEH HESD &P FGBFE?

Ni, B, Tt, In, Ge, Mn, Ag, S1. Ga

Options :



Question Number : 148 Question Id : 550053468 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

For ozone molecule consider the following

(A) It is a linear molecule with bond angle 180°

(B) It is an angular molecule with bond angle 117°

(C) The bond lengths of both O — O bonds are same

(D) With respect to oxygen it i thermodynamically more stable

The correct options are

208D EL D080H0) $08 TH DB

(A)a8 180° eocs Seaod Ko 3D )
(B)ad 117° 08’008 tfe) Se30% eedsd)

(C) 8¢’ Bocy O -0 2306 Ao fOMRSULT

9
(D) &2r1SS 0770 HEOTT e85\ S0t @l DEDE

R3S pysee hotsoc,
Options :

(B). (C) only

L ®).(0) s

(A). (B) only
(A). (B) dg

(B). (D) only

(B). (D) &
3. %



(A). (D) only

(A). (D) &oego
4, %

Question Number : 149 Question Id : 550053469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

From the list given below, the number of lanthanides which exhibit +4 state in their
oxides is

306 a\® 2D &, 931& 08" 4 23D HA6 0 roBRE © Boa

Pr, Nd, Pm, Sm, Eu, Gd. Tb, Dy
Options :

h

Question Number : 150 Question Id : 550053470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Assertion (A): All Cu (IT) halides are known except the iodide
Reason (R): Cu’ oxidizes I to I}

The correct answer 18

306 Goch (DI BO(WTTOD.
Do (A): 5708 AIrgé ddy ) Cu (Il) FGE e Ao hTraw
6o (R): Cu, T & T 1 es8\860 5000

OOV DATTN0
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) &8050 (R) 0 Goc HBEHH &r80kw (A) £ H8GD dde (R)

Both (A) and (R) are correct and (R) 1s the correct but (R) is not the correct
explanation of (A)

(A) H08ain (R) &0 8ot DBAHAD 5°Q (A) £ PBADR Ddded (R) 576
2.%

(A) 1s correct but (R) 1s not correct

(A) 28I 52D (R) DODDE 5o
3. %

(A) 1s not correct but (R) 1s cotrect

L (A) 28038 5 5 (R) 28I
4,



Question Number : 151 Question Id : 550053471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Monomers of nylon 2-nylon 6 are
Derd 2- DD 6 VI 6 e

Options :

H,N~ >CO,H H,N .

1. %

SN -CO0H
H.N" SCO,H 3 HuN ?

2. %
/\/\/\
H.N” >CO,H 3 HoN CO,H
3.9
e e
H2N/\/C02H y H-N COQH
4, %

Question Number : 152 Question Id : 550053472 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Given below are two statements

Assertion (A): Hydrolysis of DNA does not form equal number of A and T: G and
€

Reason (R): In DNA adenine forms hydrogen bonds with thymine and cytosine
forms hydrogen bonds with guanine

The correct answer 1s

308 Goty TR0 BIWETO.
[ G

33w (A): DNA x0 Dgind’ A 80 T: G SoBakw C 0w Do
Doba@.

56030 (R): DNA &' 3RS, G0 & o8abo 288 (33 & rEad
ARSI Ddbdocgao&

2BGRR DATER0

Options :

Both A and R are correct and R is the correct explanation of A

A 08030 R &0 8o 2800 S08adn A £ R 280 D568

1 ®

Both A and R are correct but R is not the correct explanation of A

., A s008adn R e ot RBoVAD 37 A £ R 2Gond DHbes 32
2.

A 1is correct but R 1s incorrect

A 280088 570 R 230008 5°¢0

3. %

4.v



A i1s mncorrect but R is correct

A D80S 370 3°A R 2300dE

Question Number : 153 Question Id : 550053473 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The structure of Gly-Ala is

Gly-Ala cdws), Qo) eeo

Options :

H
HQN%(N\/COQH
1.% 0

-
HzN/\ﬂ/NTCOQH
O

H CO,H
HoN t .
© OH
OH
N _COH
ST
®

2.9



Question Number : 154 Question Id : 550053474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The group present in prontosil 1s

T S & edy ddoriro
Options :

.Y TSN

Question Number : 155 Question Id : 550053475 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The optically inactive compound from the following is

306 ToOS” B Godes Bes B VDo) Fo?

Options :






3-Bromopropanal

3- 5" DroTeeS

3-Bromo 2-iodopropanal

3-85"a0° 2-0900& DTS

2-Bromo 3-iodopropanal

r 2- 85" 3- oD E JHTS

Question Number : 156 Question Id : 550053476 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which is the correct option for the following reaction?

2 CH3CHQBr 2 Na.»"’Dry ether: 9

S0 RBLLICRD (L. DBEDD DD\ EHD IE?

I8

2 CH?,CH28|' 2 Naiire _~7_3-§5> ?
Options :

Wurtz reaction; CH3;CH,CH>CHs

%g ) t‘bd}S . CH;CH,CH>CHj3
1.¥Y



Wurtz-Fittig reaction: CH3CH>CH>CH;
&8 & — DA 1‘565 : CH3;CH>,CH»CHj3
(] ed

Wurtz reaction; CH3;CH,CH>CH,CHj;

%é ) 6.')65 — CH3;CH>,CH>CH»CHj;
3. %

Wurtz-Fittig reaction: CH3CH>CH>CH>CH3

69 & — fb%éﬁ t:)ds : CH;CH,CH,CH,CHj
4, %

Question Number : 157 Question Id : 550053477 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of products obtained in the following reaction is

dod édseSB i)dbcis Soir BR§L D03y

0
0
NaOH
g5 -
H
A
Options :
1

'I %






Question Number : 158 Question Id : 550053478 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are “X" and Y respectively in the following reactions?
408 acslgese X 08050 Y e S8 D?
OH NaBH,

CeH:CHO + CgHCOcH, — X ——
293K major @&

Options :
C,H,COCH=C(CH,)CH,., C,H,CH,CH,COCH,
1. %
_ CH,COCH=C(CH;)CH,. C.H, = CHCH(OH)C,H,
2.
, » CeH;CH=CHCOCGH;.  C,H;CH = CHCH (OH)C H,

. CH,CH=CHCOCH,.  C,H,CH,CH,COCH,

Question Number : 159 Question Id : 550053479 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which of the following is used in perfumery?

$0& B WTD DTS EDBEAFE?
Options :

Esters of benzoic acid

830250008 €350 DV
.Y 2

Ethanoic acid

QBSo0s 35200
2. %

Methanoic acid

eSS essdo
3.%

Sodium benzoate

A oS0 808 A0S
4, %

Question Number : 160 Question Id : 550053480 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following in increasing order of their boiling points
N-Ethylethananune  Butanamme N, N - dimethyl ethanamine
I I I

308 T T8 S ,g*’mw 20 008 w80k
N- 656 2600 aofddd NN - Z0F6 @dddd

I II II

Options :

NI=1I>1
E

L M>1>10

_I>T0>1
3.

4V II>I>III
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